
Q.1From the following options, find the word 

which is related to the third word in the 

following series in the same way as the 

second word is related to the first word. 

निम्ननिखित निकल्पों में से िह शब्द ज्ञात कीनिए िप

निम्ननिखित श्रोंििा में तीसरे शब्द से उसी प्रकार

सोंबोंनित है िैसे दूसरा शब्द पहिे शब्द से सोंबोंनित है।

Cave : Lion :: Stables : ?

गुफा : शेर :: अस्तबि : ?
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(A) 

Horse 

(B) Car 

(C) 

Tiger 



(A)NO 

(B) OO 

(C) 

MO 

(D) PP

Q.2 From the following options, select the 

letter that is related to the third letter in the 

following series in the same way as the first 

letter is related to the second letter.

निम्ननिखित निकल्पों में से उस अक्षर का चयि करें िप

निम्ननिखित श्रोंििा में तीसरे अक्षर से उसी प्रकार

सोंबोंनित है िैसे पहिा अक्षर दूसरे अक्षर से सोंबोंनित है।

PB : UW :: JT : ?

SSC MTS - (02 

August 2019) Shift-II



Q.3 From the following options, find the word 

which is related to the third word in the 

following series in the same way as the 

second word is related to the first word. 

निम्ननिखित निकल्पों में से िह शब्द ज्ञात कीनिए िप

निम्ननिखित श्रोंििा में तीसरे शब्द से उसी प्रकार

सोंबोंनित है िैसे दूसरा शब्द पहिे शब्द से सोंबोंनित है।

Circle : Figure   

िरत्त : आकर नत
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(A)Toy : Play 

(B) Car : Driver 

(C) Sharpener : 

Stationery 

(D) Crypts : 

(A)खििौिा : 

िेिप

(B) कार : 

चािक

(C) शापपिर: 



(A)72 

(B) 

76 

(C) 

74 

Q.4 From the following options, select the number 

which is related to the third number in the following 

series in the same way that the second number is 

related to the first number. 

निम्ननिखित निकल्पों में से उस सोंख्या का चयि करें िप

निम्ननिखित श्रोंििा में तीसरी सोंख्या से उसी प्रकार सोंबोंनित है

िैसे दूसरी सोंख्या पहिी सोंख्या से सोंबोंनित है।
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36 : 109 :: 25 : ?



Q.5 From the following options, select the 

option that is related to the third group in the 

following series in the same way that the 

second letter group belongs to the first letter 

group. 

निम्ननिखित निकल्पों में से उस निकल् का चयि करें िप

निम्ननिखित श्रोंििा में तीसरे समूह से उसी प्रकार सोंबोंनित

है िैसे दूसरा अक्षर समूह पहिे अक्षर समूह से सोंबोंनित

है।

SSC MTS - (05 
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NPRT : OQSU :: HJLN : ?

(A)IKM

O 

(B) 

IKNO 

(C) 



Q.6 Select the option that is related to the 

third number in the same way as the second 

number is related to the first number.

उस निकल् का चयि करें िप तीसरी सोंख्या से उसी

प्रकार सोंबोंनित है िैसे दूसरी सोंख्या पहिी सोंख्या से

सोंबोंनित है।
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August 2019) Shift-III 

9 : 162 :: 13 : ?

(A)290 

(B) 

330 

(C) 

390

(D) 



Q.7 Select the option that is related to 

the third word in the same way as the 

second word is related to the first word.

उस निकल् का चयि करें िप तीसरे शब्द से

उसी प्रकार सोंबोंनित है िैसे दूसरा शब्द पहिे

शब्द से सोंबोंनित है।
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Rubber : Pencil :: Chair : ?

रबर : पेंनसि :: कुसी : ?
(A)Squatti

ng 

(B) Wood 

(C) Table 

(D) Plastic

(A) बैठिे

(B) िकडी

(C) मेि

(D) 

प्लाखिक



Q.8 From the following options, select the 

letter that has the same relation as the letter 

pair given below. 

निम्ननिखित निकल्पों में से उस अक्षर का चयि करें

निसका सोंबोंि िीचे नदए गए अक्षर युग्म के समाि है।
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GOM : JSR :: ? (A)COB : 

FSG 

(B) LAP : 

OFU 

(C) MOP : 

PSV 



Q.9 Select the word pair to which the two words 

are related in the same way as the two words of 

the word pair below are related. 

उस शब्द युग्म का चयि करें निससे दपिपों शब्द उसी

प्रकार सोंबोंनित हैं निस प्रकार िीचे नदए गए शब्द युग्म के

दप शब्द सोंबोंनित हैं।
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Misappropriate : Abuse

दुरूपयपग : गािी देिा

(A)Convict : 

Impose 

(B) Misconduct : 

Business 

(C) Repentance : 

Crime 

(A) दपषी : थपपप

(B) कदाचार: 

व्यापार

(C) पश्चाताप :

अपराि

(D) दपष देिा : 



Q.10  Select the option that is related to 

the third number in the same way as the 

second number is related to the first 

number. 

उस निकल् का चयि करें िप तीसरी सोंख्या से

उसी प्रकार सोंबोंनित है िैसे दूसरी सोंख्या पहिी

सोंख्या से सोंबोंनित है।
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17 : 289 :: 31 : ?
(A)1021 

(B) 941 

(C) 

1089 

(D) 961



Q.11 Select the option that is related to the 

third word in the same way as the second 

word is related to the first word.

उस निकल् का चयि करें िप तीसरे शब्द से उसी

प्रकार सोंबोंनित है िैसे दूसरा शब्द पहिे शब्द से

सोंबोंनित है।

SSC MTS - (05 

August 2019) Shift-III 

Clothes : Mill :: Crop : ?

कपडे : नमि :: फसि : ?

(A)Maize 

(B) Press 

(C) 

Factory 

(D) Farm

(A) 

मक्का

(B) पे्रस

(C) 

फैक्टरी

(D) 



Q.12 Five persons - F, J, N, R and V are 

seated in a circle facing towards the center 

(not necessarily in the same order). J sits 

to the immediate left of F. N is second to 

the left of F. V is second to the left of J. 

Who sits second to the right of J?

पााँच व्यखि - F, J, N, R और V एक िरत्त में कें द्र

की ओर मुि करके बैठे हैं (िरूरी िही ों नक इसी

क्रम में हपों)। J, F के ठीक बाईों ओर बैठा है। N, F 

के बाईों ओर दूसरे स्थाि पर है। V, J के बाईों ओर

दूसरे स्थाि पर है। J के दाईों ओर दूसरे स्थाि पर

कौि बैठा है?
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(A)R 

(B) 

N 

(C) 

F 

(D) 



Q.13 Five books - B, G, N, P and T are 

placed one above the other (not necessarily 

in the same order). Only one book is placed 

between N and G. B is immediately above the 

P. B is above N. G is not above N. Which 

book is at the top?

पाोंच नकताबें - B, G, N, P और T एक के ऊपर एक

रिी हुई हैं (िरूरी िही ों नक इसी क्रम में हपों)। N और

G के बीच केिि एक नकताब रिी गई है। B, P के

ठीक ऊपर है। B, N से ऊपर है। G, N से ऊपर िही ों

है। कौि सी नकताब सबसे ऊपर है?
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(A)B 

(B) G 

(C) T 

(D) P



Q.14 Six friends - C, E, G, I, K and M are 

sitting around the circle facing the center and 

they all are at equal distance from each other 

(not necessarily in the same order). E is 

second to the right of C. K is to the immediate 

right of G. G and I are facing to each other. 

How many friends are sitting between I and M 

when walk from the left of I ? 

छह नमत्र - C, E, G, I, K और M एक िरत्त के चारपों ओर

कें द्र की ओर मुि करके बैठे हैं और िे सभी एक दूसरे

से समाि दूरी पर हैं (िरूरी िही ों नक इसी क्रम में हपों)।

E, C के दाईों ओर दूसरे स्थाि पर है। K, G के ठीक

दाईों ओर है। G और I एक-दूसरे के समु्मि हैं। I के बाईों

ओर से चििे पर I और M के बीच नकतिे नमत्र बैठे हैं?
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(A)3 

(B) 1 

(C) 0 

(D) 2



Q.15 Six cars D, F, H, J, L and N stand 

around a circular path facing the center (not 

necessarily in the same order). H is third to 

the right of N. J is to the immediate left of D. 

F is second to the left of N. D is second to 

the left of F. Which car is standing second to 

the right of H?

छह कारें D, F, H, J, L और N एक िरत्ताकार पथ के

चारपों ओर कें द्र की ओर मुोंह करके िडी हैं (िरूरी

िही ों नक इसी क्रम में हपों)। H, N के दाएों तीसरे स्थाि

पर है। J, D के ठीक बाएों ओर है। F, N के बाएों ओर

दूसरे स्थाि पर है। कौि सी कार H के दायें से दूसरे

स्थाि पर िडी है?
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(A)F 

(B) 

J 

(C) 

L 

(D) 
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